000

S000

000

2000

1000

3000

2800

2000

1800

1000

500

3000

2800

2000

1800

1000

500

Run 5360 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: TI308
Mean: 15,0945 &/- 00026
St Dhey- 0.7059 &~ 00078

=== Lager OFF ---
Entrie=: 74152
Mean: 1.4499 «- 00007
Sid Dhey: 0U1924 - 00005

Run 5360 quartatwize, Diffs)

LITTTT

=== Laser O -—
Entries: 71308
Mean: 0.7473 «- 0.0017
S Dhey: 0LAG1TT & 000072

=== Laser OFF ---
Entries: 74152
Mean: 00002 +- 0.0009
Sid Dey: 0.X368 -~ 00006

Run 5360 quartetwise, Asyms)

=== Laser ON -—
Entries: 71308
Mean: 30,9536 «/- 0LOTOG
Sid Dev: 191261 40~ (L0495

=== Laser OFF ---
Entries: 74152
Mean: 00083 +- 0.0360
Sid Dhey: S0087 - 00255
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Run 5360 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 71508
Mean: 13,1473 /- 000025
Sid Dhey: 0UGESE - 00017

=== Lager OFF ---
Enlrie=: 74152
Mean: 14497 «/- 0.0007
Sid Dev: 01937 - 00005

Run 5360 quartetwize, Sumsl

=== Laser O -—-
Entries: 73508
Mean: 27.0419 &/ 00048
Sid Dev: 12923 - 00034

== Laser OFF ---
Entries: 74152
Mean: 28997 +/- 0.0011
Sid Deyv: 03049 - 00000
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— Lassar OFF —
trlnes: 74152
Main: TIE9840 487 =0 BEAIOET
S0d Dre: TFEITEEITE - BPE2ETS
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Run 5360 quartatwise, Diffsd

— Lasar O —
tnines: V135
Main: TFIIGE] JEED «- 4705 05140
S (Dnire: V3THHED 2456 i T3 D59

— L OFF —
trlnea: 7413532
Maan: SR EIRS +~ 120 E45E
2d Dwre: JITATT.E243 +/- E31.2973

Run 5360 quartetwise, Asyms4

=== Laser ON -—
Entries: 71308
Mean: 31. 3477 «/- 0UDE36
Sid Dev: 17,2133 &/~ (L0445

=== Laser OFF ---
Entries: 74152
Mean: 00090 +- 0.0162
Sid Dey: 44106 +~ 00115
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— Ly 0% —

trines: V1338

Manin: TFEME2LAIME - TR0
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— Lussar OFF —
frlnes: 74132
Masn: TIEATT4 8500 &0 S820078
Sd Dwre: TFEEIT.T170 +'- BT 3612

Run 5360 quartetwize, Sumsd
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tnines: V154
Maan: 7ITEIISS 8404 - 18451058
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— Lumar OFF —
trlnes: 74133
Miaan: 27TEISTE. HES = 121D
S0d Dwre: TITHEOMT +- BAE.2147
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=== Laser O -—
Entrie=: TI308
Mean: 00022 «- 006017
St Dhey: 04739 0 00072

=== Lager OFF ---
Entrie=: 74152
Mean: -0.0015 «- 0001 F
Sid Dhey: 04754 - 00072
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Run 5360 quartetwize, Asyms DSbg1
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=== Laser O -—
Entries: 71308
Mean: 0.0007F «- 0.0005
Sid Dey: OU1467 - 00004

=== Laser OFF ---
Entries: 74152
Mean: 00003 +- 0.0005
Sid Drey: 0U1480 &~ 00004

Run 5360 quartetwise, Asyms Horiz Fingar
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0.5

=== Laser ON -—
Entries: 71308
Mean: 00066 +- 0.0014
Sid Dey: 03703 -~ 00070

=== Laser OFF ---
Entries: 74152
Mean: 000 T +- 0,002
Sid Dey: 0.5382 -~ 000714
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Run 5360 quartetwize, Asyms USbg2

=== Laser O -—-
Entries: 71508
Mean: 00003 «/- 0.0012
Sid Dhev: 03150 & 00000

=== Lager OFF ---
Enlrie=: 74152
Mean: 00006 +/- Q.0012
Sid Dev: 0160 &~ 00000
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Run 5360 quartetwize, Asyms DShg2
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=== Laser O -—-
Entries: 73508
Mean: 00001 «- 0.0005
Sid Dev: 01327 & 00003

== Laser OFF ---
Entries: 74152
Mean: -0.0001 «- 0000E
Sid Dev: 0.1334 - 00003

Run 5360 quartetwise, Asyms Vert Finger

0.5

=== Laser O -—-
Entries: 73305
Mean: 00061 +- 0.0010
Sid Dev: 02786 &~ 0.0007

== Laser OFF ---
Entries: 74152
Mean: -0.0002 «- 00012
Sid Dev: 03625 - 00009
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